blank pages.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

IBN’Q

Database Management Systems

Time: M ‘,‘M,,,M(arkszloo

Note: Answer any FIVE full questions, selecting
atleast TWO questions from each part. ‘

PART - A
1th the help of a diagram.

1 a. Explain the cm Nx“nent modules of DBMS and their interaction‘

2 “ (10 Marks)

b. Explain the dlff“ergm categories of End Users who access the datak{ase (05 Marks)

c. Explain the different types of languages and interfaces provid & by DBMS. (05 Marks)

2 a. Explain the main phases P} database process, with the help\ﬁv{dvlagram (10 Marks)
b. Design an E-R dlagra "r-\\ keepmg track of mformati(}r; about AIRLINE database taking
into account at least FIV!@ éntmes 4 (10 Marks)

3 a. Briefly discuss the dlfferem types of update opergﬁ(\)ns on relational database. Show an
example of violation of the refefentlal integrity 1pe sh of the update operation. (10 Marks)
b. Consider the following two table& and S, show‘th@ ‘tesults of the following operations?

i) RMdrx=5AS
ii) RDdry=s8S
iii) R:MRX:S»AS

iv) RPIRX =SAANDRZ=5.0S
v) RUS :
(Assume R and S are union compgmble) ‘ (10 Marks)

o oo »<}$3/

SN |W|N

each. (O
b. Consider the foll wing'schema for a company database :
EMPLOYEEMN Ssn, Address, Sex, Salary, Super_ssn, Dno) -

DEPARTMEWT (Dname Dnumber Mgr_ssn, Mgr_start_date)
PROJECT(Pname Pnumber, Plocation, Dnum)
‘S - ON(Essn, Pno, Hours)
« ,NT(Essn Dependent_name, Sex, Bdate, Relationship)
erte the queries in SQL for the following : :
) \Remeve the name of each employee who has a dependent with the same name ahd same
‘ sex as the employee
NI List the names of mangers who have at least one dependent
i) For each employee, retrieve the employee’s name and name of his or her immediate
supervisor
iv) Show the resulting salaries if every employee working on the ‘ProductX’ project is
given a 15 percent raise
v) For each project on which more than two employees work, retrieve the project number,
the project name, and the number of employees who work on the project. (10 Marks)
1of2




op

PART -B

(10 Marks)
(10 Marks)

(10 Marks)

10 Marks)

ency Explain 4NF with an examp!ei (10 Marks)
, Pname, Plocation, hdurs}\and D = {R1, R2, R3}, where

Define multivalued dep 1id
Let R = {Ssn, Ename, Pn’qmb%r
R1=EMP = {Ssn, Enamé}; )
R2 = PROJ = {Pnumber, Pname, Plocation}
R3 = WORKS_ON = {Ssn, Pnumber hours}
The following functional dependene’le% hold on relation R.
F = {Ssn — Ename; Pnumber — {Pnane, PI6 tion } ; {Ssn, Pnumber } — hours}

Prove that the above decomposmon l"“tl()n\R ‘has the lossless join property. (10 Marks)

What is meant by the concurrent executlon\of a database transaction in a multiuser system?
Why concurrency control is needed and\;glve\“ntormal examples? (10 Marks)
; iquesused for concurrency control. (10 Marks)
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